10.

11.

12.

13.

14.

15.

16.

Practice Chapter 7 Derivative Problems

@)= =
flx) =e™"
flz)=e3
flz) =ev”

f(z) = 3% 4 2e2* — 3e® + 7
fla) ="

1+ e
flx) =e371 —4e=®

f(x) = cos(e”)

f(x) = 3e%* — 4e® + 1

f(l') — 3 cos(2z)

flx)=e2"+4e3 4+ 7

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

1 T
f(z) = 562
f(IL’) _ esinx

F(z) = 2w
fla)=
fly ="
fla) = ate
flz)=e 32

flx) =22 .27
fla) =3
f(z) =2t + 47
flz) =977



34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

f(x) = tan(57)

f(ﬂj) — 34:v+1 4 24a;+2

fz) = 35741
fl) =27

@ =(3)
fl@) = e Ing

f(z) =In(3z) +4lnz +Inb

f(z) = 2% In(2z)

f(z) =In(z7)

fle)=zlnz
1
flx) = ln;

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

f(2) = 2In(y/a)

f(z) =In(7x)

f(z) = (na)'/?

f(z) = In(3ze™™)

£(z) = In(e2e)
f(z)=In CEQi 1
f(x) = arcsin(2x)

f(x) = arctan(z?)

f(x) = z(arcsinz)

f(z) = arcsin (i)

f(z) = arcsin(2z — 3)
f(x) = 2x(arctan z)
f(x) = arctan(5z)
f(x) = arcsin(e?)

f(z) = arctan(3x — 4)



